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Ms/cm * 0.5 = ppm 4siidll ol &
Ms/cm * 0.6 = ppm 43a3ll ol 3
Ms/cm * 0.7 = ppm <Sa )l ole 8

1 Bar = 14.7 psi

M3/hr = GPM * 0.227

1 M3 = 1000 Lit = 1000/3.785 Gallon

1 Gallon = 3.785 Lit
ppm = mg/Lit = Kg/M3
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S| % = TDSMem.In - TDSCF.In *100
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A42)* F PM* AP
HPP Efficiency % = (042) (QFeed) *100
Iamp *  Vvolt * Cos ¢@* 1.732
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Jamp = _uaYl
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. (QFeed) M3/hr * (PTurb out _ PTurb Suc.)
Turb Efficiency % = *100
(QReject) M3/hr *  (PMem Out _ PTurb to drain)
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QProduct M3/day * (1000/3.785)
No. of Vessels * No. of Membrane * Area for One Membrane
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Flux =
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No. of Vessels = 4 5¥I 2

No. of Membrane = 4xie¥) ax

Area for One Membrane = gl ¢Laall 4l

QProduct M3/hr
Recovery % = * 100

QFeed M3/hr

Salt Passage = TDSProduct & 1 - Salt Rejection
TDSFeed
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. QFeed M3/hr
Concentration Factor = &
1 - Recovery QReject M3/hr

Plugging Factor% = ——* 100
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LSI = pHmes. _ pHsat.
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| pHsat.—[9.3+A+B]_[C+D] |

A = Okl (s a4l 4l ~3Y) (TDSppm ) = (Log [TDS] -1)/10

B = Cugi el o)) all 4a 0 (Temp ) = [ -13.12 * Log (T + 273) | + 34.55

C = sl 3 i (Calcium Hardness ) = Log [ Ca2+]-0.4

D = 4l 4l ( M-alkalinity ) = Log [ alkalinity]

S & SDI =2 pHsat. _ pHmes.
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(Literdil. /hr ) * Dil. Ratio * Density * 1000
QFeed M3/hr

ppm =
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Literdil. /hr = 4Ll / 4 sadl < 2l 2xe
Dil. Ratio = «adasll 4

Density = 48l
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Kilogram (Kg) = ) Liter dil * Dil.Ratio * Density
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(Literdil. /hr ) * Dil. Ratio * Density * 1000
QProduct M3/hr

ppm =

Kilogram (Kg) = ) Liter dil * Dil.Ratio * (1 / Density )
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(Literdil. /hr ) * Dil. Ratio* Density * 1000

ppm =
QProduct M3/hr

Kilogram (Kg) = ) Liter dil. * Dil.Ratio * Density




